EARAZROREIERT — 2 N—XBISY —F 2021578218 (/) 8MEIFIRI2H

2R PiE LN YA (w8 | lmEmml - |5 8 o 8
[A&4£] 1 7% :500,000 @ ~ 23%&:140,000  ~ 3 #&:105,000 @ . 4 3#&:70,000 @ 5 3 :35,000
& % B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
s . FEEXKX : = — g (dtimdE
1 6l T1Y oy —F2 #2 | ES 1.(0_9).6 2-1 39.2 3 zzg)z ERE (tizsE)
RipTLELR BIMAYLXTT SE%S
S8 2T LA 2 10. - 4| - NBHA (i)
2 3| 7RIZTILI-X "2 540 (12 110/21) e o4 ) f;) RS -
L:T—IVRI—X BAATARGL—> BNEFS
. . o2 | BIE 1:10.2 6-6 8.7 — 2 484 | KINF (timE)
3 4| NABRUF 54.0 (1/2) © |HEAT .
L:ALF4—X B:33AY pil=cbae]
i 4 2 | BIHFFE 1:10.3 5-5 39.3| — 6 430 | EHRAUE (AtimE)
401101 RI7A4A MTIL—X 54.0 (172) (+4) ?%gﬁﬁﬁ
R:xA1=Ggr—2 B:T7AYZX LY Pil=tse]
o N AR :10. - . — NEEN (AtimE)
N Az "2 RS M Rl S
Z:anN/)Fv—FK B:Xh1booay BE BE
s = 2 | BREBESE 1:10.5 1-1 40.1| — 1 436 | /NEIETT (dtiEsE)
6l5|5| 7T Z7I 1 # 54.0 (74%) (+2) S a
RSPVTTY BV e AZ ITAR HE &
® 1 —F—@EBIERL
13—7-—
2a=5"=
Ja=7= 5,6,3,2,1,4
AT =zF= (5,6),3,2,1,4
[ N5
B 6 620H 714K 3-6 340M B E 3-6 1,890 JEE 3-4-6 1,600
B B 6 240H 4-6 320M B H =3 6,060 3B 6-3-4 15,030M
3 390H 3-4 370M

ARICOVWTRDTEEERROODE. TR LIV,



